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N & 0l & AF S & M M
2019WE % 3 8 YE N MSHLHD
SN HSHAAD
HH: HSESUNLSY
ool HSEsHE CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
MEsEALAEY 11,773,437 11,652,058 121,379
= 24,852 24,852 0
J| 1,658,665 1,643,465 156,200
< 301,086 203,896 97,190
= 500,000 500,000 0
Al 9,288,834 9,279,845 8,989
HE2sdANE2S 10,605,986 10,505,306 100,680
J| 1,460,744 1,445,544 15,200
< 255,452 158,262 97,190
= 500,000 500,000 0
Al 8,389,790 8,401,500 A 11,710
Hsgsds 8,426,102 8,325,422 100,680
J| 1,460,744 1,445,544 15,200
< 255,452 158,262 97,190
= 500,000 500,000 0
Al 6,209,906 6,221,616 A11,710
HEegsid 1,005,833 1,107,543 A 11,710
307 glztol & 1,009,750 1,021,460 A11,710
02 I HAMAEE 836,209 847,919 A11,710
ORI 143 ARAZ SHSTHE HOIESHS
0& 0 1,710 A1,710
OH123 Met= T XA S0 3 0& 0 5,000 A5,000
OX1E ZMAEI =S 0& 0 5,000 A5,000
HMSAE #5(EX) 320,000 300,000 20,000
J| 90,000 90,000 0
) 20,000 0 20,000
Al 210,000 210,000 0
401 Al HIZ 201 8] 320,000 300,000 20,000
J| 90,000 90,000 0
=) 20,000 0 20,000
Al 210,000 210,000 0
01 A& HI 317,840 297,840 20,000
O02SIIT &X(ZYA ABS)
20,000,000& 20,000 0 20,000
= 20,000 0 20,000
Hsgsilad(2x) 83,050 0 83,050
J| 15,200 0 15,200
=) 67,850 0 67,850
307 21201 A 83,050 0 83,050
J| 15,200 0 15,200
=) 67,850 0 67,850
02 QI2ZtE A AMHEE 83,050 0 83,050
OLH NEH B2 4 2EHS (XA AR
&0l) 4,500,000 4,500 0 4,500
=) 4,500 0 4,500




SN HSHEAED
I HSESLALSY
ool MSESVE CERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
ON1sl 2H NBE d= Asl9 OFR0isl (=
2T ABB) 4,000,0009 4,000 0 4,000
< 4,000 0 4,000
02018 MEHNSNEK ZSAAAY QIME
S(ZFH ASB) 8,000,0009 8,000 0 8,000
gl 8,000 0 8,000
OX118 MNBHEZY S5 SRS (S
AH ABSQ) 3,000,0009 3,000 0 3,000
< 3,000 0 3,000
On3E MM T S50 (2N S0
B(=2F ASSO) 6,000,0002 6,000 0 6,000
< 6,000 0 6,000
OX13 LHAESZH SSO BILIANS (5
AH ABSQ) 10,000, 0002 10,000 0 10,000
< 10,000 0 10,000
OX2a RASSZT M2 L0EH0l HEI (5
AT ANBB) 3,000,0009 3,000 0 3,000
< 3,000 0 3,000
ONYHSHE @HE(IHEANLEY 29)
7,200,00024 7,200 0 7,200
p] 7,200 0 7,200
ON2sl ZHMXBA SRS 3 (FB AS
sol) 4,700,0009! 4,700 0 4,700
< 4,700 0 4,700
OXI2sl LHASSHY SIZ NS +0H
B(=2F ASB) 10,000, 000% 10,000 0 10,000
< 10,000 0 10,000
ON3E MASLESTH SW (2
Mg 3,650,0009! 3,650 0 3,650
< 3,650 0 3,650
02019 LRNBH M= 24 HAS
el (2 & A8Bl) 8,000,0002 8,000 0 8,000
< 8,000 0 8,000
020198 HB=7Es 24T HSH
B(Z=2R ASS) 11,000, 0002 11,000 0 11,000
< 11,000 0 11,000
Hosl M=T HHTH =50 & =203 9,340 0 9,340
< 9,340 0 9,340
307 QI2+0| 9,340 0 9,340
= 9,340 0 9,340
02 SIHFMAYEE 9,340 0 9,340
ON2s HA=CHIZW SSUEH SRS
(Z3F NBB) 9,340,0009! 9,340 0 9,340
< 9,340 0 9,340
Hod 25 U 84 1,115,815 1,115,815 0
= 24,852 24,852 0
p] 197,921 197,921 0
= 45,634 45,634 0
Al 847,408 847,408 0
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SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
HAW S48 UL AL 2Y 1,115,815 1,115,815 0
2 24,852 24,852 0
p] 197,921 197,921 0
= 45,634 45,634 0
Al 847,408 847,408 0
HAE ALXNV(BX)(2X) 49,704 49,704 0
2 24,852 24,852 0
= 9,941 9,941 0
Al 14,911 14,911 0
301 LB A3 20,943 9,943 11,000
2 10,471 4,971 5,500
= 4,189 1,989 2,200
Al 6,283 2,983 3,300
01 MBI BEHAZ 20,943 9,943 11,000
ONASSE G8EAE MBE X
20,943,0002 20,943 9,943 11,000
2 10,471 4,971 5,500
< 4,189 1,989 2,200
Al 6,283 2,983 3,300
308 XX M S0/ ® 28,761 39,761 A11,000
= 14,381 19,881 25,500
= 5,752 7,952 £2,200
Al 8,628 11,928 £3,300
P e EEREEE L 28,761 39,761 A 11,000
ONASS G8EAE NBE X
28,761,000% 28,761 39,761 A11,000
2 14,381 9,881 A5,500
< 5,752 7,952 £2,200
Al 8,628 11,928 £3,300
WRES(MSHLED) 22,116 1,417 20,699
SENS(HSHLED) 22,116 1,417 20,699
SHNS(NSH2ED) 22,116 1,417 20,699
802 BHet 2 JI Ef 22,116 1,417 20,699
NEREESTTEE 22,003 1,400 20,693
O2H ETHBIH AZXC0 DA 24 2
Ty gy 8,000,000%4 8,000 0 8,000
OAEZANOISR NAAY 2 0K
89,0002 89 0 89
OXEANE BLHSSNAMNN 75
876,0002 876 743 133
OFAE SUX T2 29 904,000 904 303 601
08t % HAUXH 1,445,0002 1,445 325 1,120
020188 LBMBHSKEH s T
308,820% 309 0 309
020188 LBMBHSKC 01X 53,4108 54 0 54
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